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+5@=KE H0@>2 ......, 15@CB 87 =8E ........, 7=0G8B 

m2  =  &&&&&&&&&& 21 mmm ý  =&&&&&&&& 

 B2= {4 G5@=KE} +5@=KE H0@>2 ...., 15@CB 87 =8E ....., 7=0G8B m  =  &&.. 

�5@>OB=>AB8 A>1KB89  B1 8 B2 @02=K: ý)( 1BP   &&&&&&&& ý)( 2BP

&&&&&&&& )()()( 21 BPBPBP ý  = &&&&&& 

2) C 3 A@548 2K=CBKE H0@>2 E>BO 1K >48= 15;K9. �45AL   A>1KB85  C  

>?@545;O5BAO  A;>20<8 "E>BO 1K >48=" 8 ?@O<>5 @5H5=85  ?@82>48B   >1KG=>  : 
A;>6=K<  2KG8A;5=8O<.  -B><C A>1KB8N C4>2;5B2>@ONB A;54CNI85 A>G5B0=8O 
H0@>2: 1 15;K9 8 3 G5@=KE (C1), 2 15;KE 8 2 G5@=KE (C2), 3 15;KE 8 1 G5@=K9 
(C3), 4 15;KE (C4). �<55<:  C = C1 + C2 + C3 + C4.  �;O 2KG8A;5=8O 25@>OB=>AB8 
A>1KB8O C =5>1E>48<> =09B8 25@>OB=>AB8 G5BK@ёE A>1KB89 C1, C2, C3, C4. 

#@>I5  A=0G0;0  =09B8  25@>OB=>ABL ?@>B82>?>;>6=>3>   A>1KB8O   8  70B5< 
2KG8A;8BL 25@>OB=>ABL 8A:><>3> A>1KB8O. 

     #@>B82>?>;>6=K< A>1KB8N C O2;O5BAO A>1KB85 !  - A@988 6O=CBOE H4@>6 =9B 

=8 >8=>7> 59;>7>, !  = {4 G5@=KE} = B2 
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)()( 2BP!P ý =  &&&&& 

ýý )(1)( CPCP &&&&&&&&&&&&&&&&&& 

 "B25B: &&&&, &&&&&., &&&&&.. 
 

 �040G0 № 2 
 'AB@>9AB2> A>AB>8B 87 B@5E =57028A8<KE  M;5<5=B>2,  @01>B0NI8E 2  B5G5=85 
2@5<5=8 & 157>B:07=> A>>B25BAB25==> A 25@>OB=>ABO<8  0,851,  0,751  8  0,701. !09B8 
25@>OB=>ABL B>3>, GB> 70 2@5<O & 2K945B 87 AB@>O:  0) B>;L:> >48= M;5<5=B; 1) E>BO 1K 
>48= M;5<5=B. 
 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 !09B8:   &&&&&&&&&&&&&&&&&&&&&&&& 

 $5H5=85: 
�0=> A;>6=>5 8A?KB0=85 3 @01>B0 CAB@>9AB20, A>AB>O2H53> 87 3-E M;5<5=B>2. 
�A?KB0=85, B.5. @01>BC 70 2@5<O & =C6=>  @0AA<>B@5BL =0 42CE C@>2=OE:  =0  C@>2=5   
CAB@>9AB20 8   =0 C@>2=5 M;5<5=B>2.  
�2545< M;5<5=B0@=K5 A>1KB8O:   Bi 3 i-K9 M;5<5=B =5 2KE>48B 87 AB@>O;  

 iB  - i-K9 M;5<5=B 2KE>48B 87 AB@>O. 
 0) A 3  74 6@9<S " 6OE>88B 87 AB@>S B>;P:> >88= Q;9<9=B. 

�K@078< �, G5@57 M;5<5=B0@=K5 A>1KB8O. %>1KB85 A ?@>8AE>48B B>340, :>340 
2KE>48B 87 AB@>O ;81> B>;L:> 1-9, ;81> B>;L:> 2-9, ;81> B>;L:> 3-9 M;5<5=B. 
А = {Н  ,  Н ,   Н} = &&&&&&&&&&&&& 

'G8BK20O =57028A8<>ABL M;5<5=B>2 CAB@>9AB20, =5A>2<5AB8<>ABL A>1KB89 

 ?@8<5=8< B5>@5<K A;>65=8O 8 C<=>65=8O 25@>OB=>AB59  P(A) =   

&&&&&&&&&&&&&......... 
�5@>OB=>AB8 M;5<5=B0@=KE A>1KB89  Вi >?@545;OBL  =5 =04>, B0: :0:  MB8 25@>OB=>AB8 
7040=K ?> CA;>28N.  
P(B1) = p1 = ………….., P(B2) = p2 = ……………., P(B3) = ……………………. 

Вi 8   iB  - ?@>B82>?>;>6=K5 A>1KB8O. ýý )(1)( 11 BPBP
&&&&&&&&&&&&&&&&&&&&&&&.  
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

�KG8A;8< 25@>OB=>ABL A>1KB8O  A. 

P(A) =   &&&&&&&&&&&&&.......................... 
&&&&&&&&&&&&&&&&&&&&&&&&& 

1) B 3  74 6@9<S Т 6OE>88B 87 AB@>S E>BS 5O >88= Q;9<9=B.  

%>1KB85 >?@545;O5BAO A;>20<8 "E>BO 1K >48=", 7=0G8B, 8A?>;L7C5< ?@>B82>?>;>6=>5 

A>1KB85  B  - 74 6@9<S Т 6A9 Q;9<9=BO @45>B4RB 597>B:47=>. B  = { $$$} = 
&&&&&&&&&&&&&&&&&&&. 

!0945< 25@>OB=>ABL A>1KB8O B : 

&&&&&&&&&&&&&&&&&&&&&&&&& 

P(B) = &&&&&&&&&&&&&&&&&&&&&&&&&&&&. 
 

B
i
и ŪUB

i
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"B25B:  &&&&&&&&&&&&&&&&&&&&&&&&&&& 

 

 

#@0:B8G5A:0O @01>B0 №3. #@8<5=5=85 D>@<C;K ?>;=>9 25@>OB=>AB8 8 D>@<C;K 
�095A0. 

 

 �840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 
?@>F5AA5 2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 

 

3  D>@<C;C  ?>;=>9 25@>OB=>AB8; 
3  D>@<C;C �095A0 

 

3  =0E>48BL ?>;=CN 25@>OB=>ABL; 
3  =0E>48BL 25@>OB=>AB8 38?>B57 

 

 �>?@>AK : B5<5 
1.  >65B ;8 25@>OB=>ABL ?@>872545=8O 42CE A>1KB89 1KBL @02=>9 ?@>872545=8N 
25@>OB=>AB59 MB8E A>1KB89?   
&&&&&&&&&&&&&&&&&&&&&&&&& 

  2. �A;8 AC<<0 25@>OB=>AB59 A>1KB89 @02=0 1, <>6=> CB25@640BL, GB> >=8 >1@07CNB 
?>;=CN 3@C??C? &&&&&&&&&&&&&&&&&&&&&&&&& 

 3.  >6=> ;8 CB25@640BL, GB> AC<<0 25@>OB=>AB59 A>1KB89, >1@07CNI8E ?>;=CN 
3@C??C, @02=0 548=8F5? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

  4. "1@07CNB ;8 420 ?@>B82>?>;>6=KE A>1KB8O ?>;=CN 3@C??C A>1KB89? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

 5.  #CABL U 8 V 3 A>>B25BAB25==> 4>AB>25@=>5 8 =52>7<>6=>5 A>1KB8O. +5<C @02=0 
25@>OB=>ABL AC<<K MB8E A>1KB89?  
&&&&&&&&&&&&&&&&&&&&&&&&& 

6.  #CABL U 8 V 3 A>>B25BAB25==> 4>AB>25@=>5 8 =52>7<>6=>5 A>1KB8O. +5<C @02=0 
25@>OB=>ABL ?@>872545=8O MB8E A>1KB89?  
&&&&&&&&&&&&&&&&&&&&&&&&& 

7. #@8 :0:>< CA;>288 ?@8<5=ONB D>@<C;C ?>;=>9 25@>OB=>AB8? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 № 1  
 � ?8@0<845 AB>OB 19 28=B>2>:, 87 =8E 3 A >?B8G5A:8< ?@8F5;><. %B@5;>:, 
AB@5;OO 87 28=B>2:8 A >?B8G5A:8< ?@8F5;><, <>65B ?>@078BL <8H5=L A 25@>OB=>ABLN 
0,81, 0 AB@5;OO 87 28=B>2:8 157 >?B8G5A:>3> ?@8F5;0,  A 25@>OB=>ABLN 0,46. !09B8 
25@>OB=>ABL B>3>, GB> AB@5;>: ?>@0782 <8H5=L, AB@5;O; 87 28=B>2:8 A >?B8G5A:8< 
?@8F5;><. 
 

 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 !09B8: &&&&&&&&&&&&&&&&&&&&&& 

 

 $5H5=85: 
� 3 AB@5;>: ?>@078B <8H5=L 3 MB> A>1KB85 <>65B ?@>87>9B8 B>;L:> A >4=>9 87 

38?>B57 
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�1 3 AB@5;>: 2>7L<5B 28=B>2:C A >?B8G5A:8< ?@8F5;><; 
�23 AB@5;>: 2>7L<5B 28=B>2:C 157 >?B8G5A:>3> ?@8F5;0. 
 

!0945< 25@>OB=>AB8 38?>B57. #> D>@<C;5 :;0AA8G5A:>3> >?@545;5=8O 25@>OB=>AB8 
P(B1) =…………………………………………………………………..  
P(B2) =………………………………………………………………………………….. 
 

'A;>2=K5 25@>OB=>AB8 2K?8H5< 87 CA;>28O 7040G8. 
 (А/В1) = &&&&&&&&&..  (А/В2) = &&&&&&&&&&&&& 

 

�A?>;L7C5< D>@<C;C ?>;=>9 25@>OB=>AB8.  
 (А) =  (А/В1)  (В1) +  (А/В2)  (В2) = ………………………………………….. 
&&&&&&&&&&&&&&&&&&&&&&&&& 

#> D>@<C;5 �095A0 2KG8A;O5< CA;>2=CN 25@>OB=>ABL 38?>B57K В1. 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 "B25B:  &&&&&&&&&&&&&&&&&&&&&& 

 

 

 �040G0 № 2 
 !0 E8<8G5A:><  702>45  CAB02;5=0  A8AB5<0  020@89=>9  A83=0;870F88.  �>340  
2>7=8:05B  020@89=0O A8BC0F8O, 72C:>2>9 A83=0; A@010BK205B A 25@>OB=>ABLN 0,950. 
�2C:>2>9 A83=0; <>65B A@01>B0BL A;CG09=> 8 157 020@89=>9 A8BC0F88 A 25@>OB=>ABLN 
0,02. $50;L=0O 25@>OB=>ABL 020@89=>9 A8BC0F88 @02=0 0,004. �725AB=>, GB> 72C:>2>9 
A83=0; A@01>B0;. +5<C @02=0  25@>OB=>ABL @50;L=>9 020@89=>9 A8BC0F88? 
 

 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 !09B8: &&&&&&&&&&&&&&&&&&&&&& 

 $5H5=85: 
 $0AA<>B@8< A>1KB85 А 3 A87=4; A@45>B4;. -B> A>1KB85 <>65B ?@>87>9B8 
B>;L:> A >4=>9 87 38?>B57  Вi ( i =1,2 ): 

В1 3 5ABL 020@89=0O A8BC0F8O; 
В2 3 =5B 020@89=>9 A8BC0F88; 
 &>340 ?> D>@<C;5 ?>;=>9 25@>OB=>AB8 25@>OB=>ABL A>1KB8O А 1C45B @02=0 
P(А) = P (А/ В1) ∙ P (В1) + P(А/ В2) ∙  (В2) 

 (В1) 3 MB> 25@>OB=>ABL @50;L=>9 020@89=>9 A8BC0F88. "=0 8725AB=0 ?> CA;>28N. 
 (В1) = &&&&&&&&&&&&&&&&&.. 
В1 8 В2 3 420 2708<=> ?@>B82>?>;>6=KE A>1KB8O.  
 (В2) = &&&&&&&&&&&&&&&&&&&&&&&&&&&.. 
 �0?8H5< CA;>2=K5 25@>OB=>AB8 A>1KB8O А. 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

�A?>;L7CO CAB0=>2;5==K5 25@>OB=>AB8, >?@545;8< 25@>OB=>ABL A>1KB8O А:  P(А) 
= P (А/ В1) ∙ P (В1) + P(А/ В2) ∙  (В2) =  

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

!0945< 25@>OB=>ABL @50;L=>9 020@89=>9 A8BC0F88 2 B>< A;CG05, 5A;8 72C:>2>9 
A83=0; A@01>B0; ?> D>@<C;5 �095A0. 
&&&&&&&&&&&&&&&&&&&&&&&&& 



13 

 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 "B25B:&&&&&&&&&&&&&&&&&&&&&& 

 

 

#@0:B8G5A:0O @01>B0 №4. #>2B>@5=85 8A?KB0=89. 
 �840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 
?@>F5AA5 2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
�=0BL:  
3?>=OB85 AE5<K �5@=C;;8;  
3D>@<C;C �5@=C;;8; 
3  ?@81;865==K5 D>@<C;K  2 AE5<5 �5@=C;;8 

 '<5BL: 
3  2KG8A;OBL 25@>OB=>AB8 A>1KB89 2 AE5<5 �5@=C;;8 

 

 �>?@>AK : B5<5 
1. �0:8<8 4>;6=K 1KBL 8A?KB0=8O, GB>1K <>6=> 1K;> ?@8<5=8BL D>@<C;C /. 
�5@=C;;8? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

2. #5@5G8A;8B5 DC=40<5=B0;L=K5 CA;>28O AE5<K =57028A8<KE 8A?KB0=89. 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

3. "1JOA=8B5 7=0G5=85 2A5E A8<2>;>2 2 D>@<C;5 /. �5@=C;;8. 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

4. �0?8H8B5 D>@<C;C 2KG8A;5=8O 25@>OB=>AB8 A>1KB8O 2 AE5<5 =57028A8<KE 
8A?KB0=89, 5A;8: 0) A>1KB85 ?@>87>H;> @>2=> k @07;  
&&&&&&&&&&&&&&&&&&&&&&&&& 

1) A>1KB85 ?@>87>H;> >B k  4> m @07; 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

2) <5=55 2-E @07; 
&&&&&&&&&&&&&&&&&&&&&&&&& 

3) =5 1>;55 2-E @07. 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

5. #@8 :0:8E CA;>28OE <>6=> ?@8<5=OBL 70:>= #C0AA>=0? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

6. �0?8A0BL D>@<C;C #C0AA>=0 8 >1JOA=8BL 7=0G5=85 A8<2>;>2 2 MB>9 D>@<C;5.    
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

7. +5<C @025= ?0@0<5B@ λ 2 MB>9 D>@<C;5?  
&&&&&&&&&&&&&&&&&&&&&&&&& 

8. #@8 :0:8E CA;>28OE <>6=> ?@8<5=OBL D>@<C;C �0?;0A0? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

9. �0?8A0BL D>@<C;C �0?;0A0 8 >1JOA=8BL 7=0G5=85 A8<2>;>2 2 MB>9 D>@<C;5. 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

10. �0: =0E>48BL 7=0G5=8O DC=:F88 4;O >B@8F0B5;L=>3> 0@3C<5=B0 2 ;>:0;L=>9 
D>@<C;5 �0?;0A0? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 
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11.  �0: =0E>48BL 7=0G5=8O DC=:F88 4;O 0@3C<5=B0 1>;LH5 8;8 @02=>3>  
4-< 2 ;>:0;L=>9 D>@<C;5 �0?;0A0?  
&&&&&&&&&&&&&&&&&&&&&&&&& 

 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 № 1  
 �5@>OB=>ABL ?@8ё<0 @048>A83=0;0 ?@8 :064>9 ?5@540G5 @02=0 0,8. !09B8 
25@>OB=>ABL B>3>, GB> ?@8 H5AB8:@0B=>9 ?5@540G5 A83=0; 1C45B ?@8=OB:  
1) G5BK@5 @070; 2) =5 <5=55 G5BK@5E @07; 3) =5 1>;55 >4=>3> @070. 
!09B8 =0825@>OB=59H55 G8A;> ?@8=OBKE A83=0;>2. 
 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 !09B8: &&&&&&&&&&&&&&&&&&&&&& 

 $5H5=85: 
�A?KB0=85 3 ?5@540G0 A83=0;0.  «'A?5E» - A83=0; 1C45B ?@8=OB. 
1) В 3 A83=0; 1C45B ?@8=OB G5BK@5 @070  
#@>AB@0=AB2> 8AE>4>2 A>1KB8O  В = { 6(4) }, B>340 P(B) = P6(4). 

#@8<5=8< D>@<C;C �5@=C;;8. 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

2) C 3 A83=0; 1C45B ?@8=OB =5 <5=55 G5BK@5E @07.  
C 3 «=5 <5=55 G5BK@5E @07», >7=0G05B, GB> A83=0; 1C45B ?@8=OB 4, 5 8;8 6 @07. 
#@>AB@0=AB2> 8AE>4>2 A>1KB8O  ! = { 6(4), 6(5), 6(6) }, B>340  
P(!) = P6(4) + P6(5) + P6(6). 

P6(4)  = & &&&&&&&&&&&&&&&&&&&&& 

P6(5) =   &&&&&&&&&&&&&&&&&&&&&& 

P6(6) =   &&&&&&&&&&&&&&&&&&&&&& 

P(!) = P6(4) + P6(5) + P6(6) =    &&&&&&&&&&&&&& 

3) D 3 A83=0; 1C45B ?@8=OB =5 1>;55 >4=>3> @070 
D 3 «=5 1>;55 >4=>3> @070», >7=0G05B, GB> A83=0; 1C45B ?@8=OB >48= @07 8;8 =8 
@07C. #@>AB@0=AB2> 8AE>4>2 A>1KB8O  D = { 6(0), 6(1) }, B>340 P(D) = P6(0)+ 

P6(1). 

P6(0)  = & &&&&&&&&&&&&&&&&&&&&& 

P6(1) =   &&&&&&&&&&&&&&&&&&&&&& 

P(D) = P6(0)+ P6(1)=   &&&&&&&&&&&&&&&& 

4) !0825@>OB=59H55 G8A;> CA?5E>2 =0E>48BAO 2 8=B5@20;5  
nр - . 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 "B25B: &&&&&&&&&&&&&&&&&
 

 �040G0 № 2 
 � :064>< 87 700 =57028A8<KE 8A?KB0=89 A>1KB85 A ?@>8AE>48B A ?>AB>O==>9 
25@>OB=>ABLN 0,35. !09B8 25@>OB=>ABL B>3>, GB> A>1KB85 � ?@>8AE>48B: 
0) B>G=> 270 @07;    1) E>BO 1K >48=  @07.  
 �0=>:  &&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 !09B8: &&&&&&&&&&&&&&&&&&&&&& 

 $5H5=85: 
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0) !0945< 25@>OB=>ABL B>3>, GB> A>1KB85 � ?@>8AE>48B B>G=> 270 @07  
+8A;> 8A?KB0=89 4>AB0B>G=> 25;8:>, ?@>25@8< 7=0G5=85 n · p 8 A@02=8< 53> A G8A;>< 
10:   n · p = &&&&&&,  A;54>20B5;L=> =5>1E>48<> ?@8<5=OBL 
&&&&&&&&&&&&&&&&&&&. 
#> CA;>28N: n = ……, p = ……, m = &&,  q = 1 – p = &............. 
�KG8A;8< npq =………………………, ýnpq  &&&&&& 

m – np =………………………,B>340 ý


ý
npq

npm
u  &&&&&&,  

#> B01;8F5 1 ?@8;>65=8O =0E>48< 
___________________________________(______)ýf .  

#>4AB028< =0945==K5 7=0G5=8O 2 D>@<C;C  C02@0-�0?;0A0:   700(270) =  

&&&&&&&&&&&&&&&&&&&&&&&&& 

5) Н4989< 69@>SB=>ABP B>7>, GB> A>5OB89 А ?@>8AE>88B E>BS 5O >88=  @47. �;O 
1KAB@>3> 2KG8A;5=8O 25@>OB=>AB8 MB>3> A>1KB8O 22545< A>1KB85 5<C 

?@>B82>?>;>6=>5 3  В 3  A>1KB85 =5 ?@>87>945B =8 @07C, B> 5ABL G8A;> ?>O2;5=89 
A>1KB8O @02=> =C;N. 

P( В ) = P700(0) , B>340 P(�) = 1 3 P( В ) 

!0945< P700(0) 

m 3 np =&&&&&&&&&&&&&&&&&,B>340  

ý


ý
npq

npm
u &&&&&&&&&&&&&&&&&.&,  

8725AB=>, GB>   )()( ufuf ý  #> B01;8F5 1 ?@8;>65=8O =0E>48< 

___________________________________(______)ýf .  

#>4AB028< =0945==K5 7=0G5=8O 2 D>@<C;C  C02@0-�0?;0A0:   700(0) =  

&&&&&&&&&&&&&&&&&&&&&&&&& 

P(В) = 1 – P( В )=    &&&&&&&&&&&&&&&&&& 

 "B25B: &&&&&&&&&&&&&&&&&&&&&& 

 

  �040G0 3  
 !0 B5;5D>==>9 AB0=F88 =5?@028;L=>5 A>548=5=85 ?@>8AE>48B A 25@>OB=>ABLN 
1/200. !09B8 25@>OB=>ABL B>3>, GB> A@548 200 A>548=5=89 ?@>87>945B:  
0) B>G=> 1 =5?@028;L=>5 A>548=5=85;  
1) <5=LH5 G5< 3 =5?@028;L=KE A>548=5=8O;  
2) 1>;LH5 G5< 2 =5?@028;L=KE A>548=5=8O.  
 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

 !09B8: &&&&&&&&&&&&&&&&&&&&&& 

 

 $5H5=85: 
+8A;> 8A?KB0=89 25;8:>, 0 25@>OB=>ABL A>1KB8O А <0;0. #@>25@8< CA;>285 

?@8<5=8<>AB8 0A8<?B>B8G5A:>9 D>@<C;K �5@=C;;8. !0945< ?@>872545=85 np 8 
A@02=8BL 53> A G8A;>< 10. 
!0945< ?@>872545=85 np = .........................................10, ?>MB><C D>@<C;C �5@=C;;8 
=5>1E>48<> 70<5=8BL ?@81;865==>9 D>@<C;>9 ......................... 
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.,
!

)( np
m

e
P

m

mn ý


 

  

%>1KB85 А 3 B>G=> 1 =9?@468;P=>9 A>988=9=89. 
#@>AB@0=AB2> 8AE>4>2 A>1KB8O А = { 200(1) }, B>340 P (А) = P200(1) 

np = .........., A;54>20B5;L=>, λ = ........., 0 m = ............ 

P(А) = P200 (1) = ................................................................................................. 

%>1KB85 В 3 <9=PH9 G9< 3 =9?@468;P=OE A>988=9=8S. 

#@>AB@0=AB2> 8AE>4>2 A>1KB8O В = { 200(0), 200(1), 200(2) }, B>340  
P (B) = P200(0)+ P200(1)+ P200(2)  

!0945< P200(0) 8  P200(2) 

P200(0) = &&&&&&&&&&&&&&&&&&&&&& 

 P200(2)= &&&&&&&&&&&&&&&&&&&&&& 

P(B) = &&&&&&&&&&&&&&&&&&&&&& 

!>5OB89 C – 5>;PH9 G9< 2 =9?@468;P=OE A>988=9=8S 

#@>AB@0=AB2> 8AE>4>2 A>1KB8O ! = { 200(3), 200(4), 200(5),....., 200(200)}  

#@>I5  A=0G0;0  =09B8  25@>OB=>ABL ?@>B82>?>;>6=>3>   A>1KB8O   8  70B5< 2KG8A;8BL 
25@>OB=>ABL 8A:><>3> A>1KB8O. 

     #@>B82>?>;>6=K< A>1KB8N C O2;O5BAO A>1KB85 !  - =9?@468;P=OE 
A>988=9=89 <9=PH9 3-E: !  = {200(0), 200(1), 200(2)} = B,  

P(C) = 1 – P(B) = &&&&&&&&&&&&&&&&&&& 

 

 "B25B: &&&&&&&&&&&&&&&&&&&&&& 

 

 

#@0:B8G5A:0O @01>B0 № 5. #>AB@>5=85 70:>=0 @0A?@545;5=8O 48A:@5B=>9 A;CG09=>9 
25;8G8=K. �KG8A;5=85 >A=>2=KE G8A;>2KE E0@0:B5@8AB8:. 

 

�840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 ?@>F5AA5 
2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
 �=0BL:  
-  ?>=OB85 �%�;  
3  ?>=OB85 @O40 @0A?@545;5=8O �%� 

3  70:>=K @0A?@545;5=8O �%�: 18=><80;L=K9, #C0AA>=0. 
3  A2>9AB20 70:>=>2 @0A?@545;5=8O �%� 

 '<5BL: 
-3  70?8AK20BL  @O4 @0A?@545;5=8O �%�, 7040==>9 A>45@60B5;L=K< >1@07>< 

 

 �>?@>AK : B5<5 
 

1. �0:0O 25;8G8=0 =07K205BAO A;CG09=>9? 
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

2. �0:0O A;CG09=0O 25;8G8=0 =07K205BAO 48A:@5B=>9? #@82548B5 ?@8<5@K 48A:@5B=>9 
A;CG09=>9 25;8G8=K.  
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

3. �0:0O A;CG09=0O 25;8G8=0 =07K205BAO =5?@5@K2=>9? #@82548B5 ?@8<5@K 
=5?@5@K2=>9 A;CG09=>9 25;8G8=K.  
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 
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4. +B> =07K205BAO 70:>=>< @0A?@545;5=8O 48A:@5B=>9 A;CG09=>9 25;8G8=K?  
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

5. "1JOA=8B5 GB> B0:>5 "<=>3>C3>;L=8: @0A?@545;5=8O 25@>OB=>AB59".  �0: 53> 
?>AB@>8BL?  
&&&&&&&&&&&&&&&&&&&&&&&&& 

&&&&&&&&&&&&&&&&&&&&&&&&& 

6. #5@5G8A;8BL :><?;5:A CA;>289 18=><80;L=>3> 70:>=0. 
&&&&&&&&&&&&&&&&&&&&&.&&&&&&&&&&&&&&&
&&&&&&&&. 
  

&&&&&&&&&&&&&&&&&&&&&.& 

7. #5@5G8A;8BL :><?;5:A CA;>289 70:>=0 #C0AA>=0. 
&&&&&&&&&&&&&&&&&&&&&.& 

&&&&&&&&&&&&&&&&&&&&&.& 

 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 № 1 
 � ?0@B88 87 8 45B0;59 ?OBL AB0=40@B=KE. !0C40GC 27OBK G5BK@5 45B0;8. 
#>AB@>8BL @O4 @0A?@545;5=8O G8A;0 AB0=40@B=KE 45B0;59 A@548 >B>1@0==KE. 
 �0=>: �A?KB0=85 3 &&&&&&&&&&&&&&&& 

%;CG09=0O 25;8G8=0 X 3 &&&&&&&&&&&&& 

 !09B8: 70:>= @0A?@545;5=8O A;CG09=>9 25;8G8=K  X. 

 $5H5=85:  
#CABL X – G8A;> AB4=84@B=OE 89B4;99 A@988 >B>5@4==OE. 

�A53> .........  45B0;59, 87 =8E ...... AB0=40@B=KE 8 ..........  =5AB0=40@B=KE. �7OBL 4 
=5AB0=40@B=KE 45B0;59 =52>7<>6=>, B0: :0: 8E 2A53> B@8. #>MB><C A;CG09=0O 
25;8G8=0  <>65B ?@8=8<0BL A;54CNI85 G5BK@5 7=0G5=8O: x1 = 1; x2 = 2; x3 = 3; x4 = 4. 

�;O >?@545;5=8O 25@>OB=>AB8 ?>O2;5=8O :>=:@5B=>3> G8A;0 AB0=40@B=KE 45B0;59 
22545< A>1KB8O Аi 3 87 4-E 45B0;59  i  AB0=40@B=KE. 
+8A;> 8AE>4>2 >?KB0 ýý 4

8Cn  &&&&&&&&&&&& 

�A;8 x1 = 1, B> ?@>87>H;> A>1KB85 А1 3 87 4-E 45B0;59  1 AB0=40@B=0O. 
+8A;> 8AE>4>2 A>1KB8O А1 5153

3

1

521 ýýýý CCmmm  

%;54>20B5;L=>, ýý )1(XP  &&&&&&&&&&&&&& 

�A;8 x2 = 2, B> ?@>87>H;> A>1KB85 А2 3 87 4-E 45B0;59     &&&&& 

+8A;> 8AE>4>2 A>1KB8O А2 ýý 21 mmm   &&&&&&&&&& 

%;54>20B5;L=>, ýý )2(XP  &&&&&&&&&&&&&& 

�A;8 x3 = 3, B> ?@>87>H;> A>1KB85 А3 3   &&&&&&&&&& 

+8A;> 8AE>4>2 A>1KB8O А3    ……………………………………… 

%;54>20B5;L=>, ýý )3(XP  &&&&&&&&&&&&&& 

�A;8 x4 = 4, B> ?@>87>H;> A>1KB85 А4  3  &&&&&&&&&& 

+8A;> 8AE>4>2 A>1KB8O А4   ……………………………………… 

%;54>20B5;L=>, ýý )4(XP  &&&&&&&&&&&&&& 

�>=B@>;L - ýõ
ý

4

1i

ip  &&&&&&&&&&&&&&&& 

�A:><K9 @O4 @0A?@545;5=8O 8<55B 284:  
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xi     

pi     

 

 

 �040G0 №2 
 � <03078= ?>ABC?8;0 >1C2L A 42CE D01@8: 2 A>>B=>H5=88 2:3. �C?;5=> 4 ?0@K 
>1C28. !09B8 70:>= @0A?@545;5=8O G8A;0 :C?;5==KE ?0@ >1C28, 873>B>2;5==>9 ?5@2>9 
D01@8:>9  
 �0=>: �A?KB0=85 3   &&&&&&&&&&&&&&&& 

 &&&&&&..&&&&&&&&&&&&&& 

%;CG09=0O 25;8G8=0 X 3 &&&&&&&&&&&&& 

 !09B8: 70:>= @0A?@545;5=8O A;CG09=>9 25;8G8=K  X  

  

 $5H5=85:  
#CABL X – &&&&&&&&&&&&&&&&&& 

%;CG09=0O 25;8G8=0  <>65B ?@8=8<0BL A;54CNI85  7=0G5=8O &&&&&&&&&.  
&&&&&&&&&&&&&  
%;CG09=0O 25;8G8=0 @0A?@545;5=0 ?> 70:>=C  &&&&&&&&.. 
+8A;> 8A?KB0=89 n @02=> &&&&&&&&&&& 

�5@>OB=>ABL «CA?5E0» - MB> 25@>OB=>ABL B>3>, GB> &&&&&&&&&&. 
&&&&&&&&&&&&  
#> CA;>28N ?>ABC?8;0 >1C2L A 42CE D01@8: 2 A>>B=>H5=88 2:3. �5@>OB=>ABL B>3>, GB> 
A;CG09=> 2K1@0==0O ?0@0 >1C28 873>B>2;5=0 ?5@2>9 D01@8:>9, @02=0 p = 2 / (2 + 3) = 

....., q = 1 – p= …… 

 +8A;> «CA?5E>2» @02=> m, 8 <5=O5BAO 2 A>>B25BAB288 A> 7=0G5=8O<8 A;CG09=>9 
25;8G8=K. 

x1 = 0, A>1KB85  A0 3 =8  >4=0 ?0@0 =5 873>B>2;5=0 1-9 D01@8:>9. 
P(X = 0) = P4 (0)= C4

0 p0 q 4 – 0 = &&&&&&&&&&&& 

x2= 1, A>1KB85  A1 3 >4=0 ?0@0 &&&&&&&&&&&& 

P(X = 1) = P4 (1)= C4
1 p1 q 4 – 1 = &&&&&&&&&&&& 

x3 = 2, A>1KB85  A2 3 &&&&&&&&&&&&&&&. 
P(X = 2) = P4 (2)= &&&&&&&&&&&&&&&& 

x4 = 3, A>1KB85  A3 3 &&&&&&&&&&&&&&&. 
P(X = 3) = &&&&&&&&&&&&&&&&&&. 
 x5= …., A>1KB85  &&&&&&&&&&&&&&&&. 
P(X = 4) = &&&&&&&&&&&&&&&&&&. 
�>=B@>;L: 
p1 + p2 + p3

 + p4  + p5 = &&&&&&&&&&&&&&& 

 

� B0: 8A:><K9 70:>= @0A?@545;5=8O 8<55B 284:  
 

xi      

pi      
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%;CG09=0O 25;8G8=0 Х 3 G8A;> ?0@ >1C28 A@548 G5BK@5E, 873>B>2;5==KE ?5@2>9 
D01@8:>9, 8<55B 18=><80;L=K9 70:>= @0A?@545;5=8O A ?0@0<5B@0<8 n = ……., p = 
………. 
  
 

 #@0:B8G5A:0O @01>B0 № 6  #>AB@>5=85 DC=:F88  ?;>B=>AB8 8 8=B53@0;L=>9 
DC=:F88 @0A?@545;5=8O  =5?@5@K2=>9 A;CG09=>9 25;8G8=K. �KG8A;5=85 G8A;>2KE 
E0@0:B5@8AB8:   !%�. 
 

 �840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 
?@>F5AA5 2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
• �=0BL: 
3 >?@545;5=85 8 A2>9AB20 DC=:F88 ?;>B=>AB8 !%�; 
3 >?@545;5=85 8 A2>9AB20 8=B53@0;L=>9 DC=:F88 @0A?@545;5=8O !%�; 
3A2O7L <564C 8=B53@0;L=>9 DC=:F859 @0A?@545;5=8O 8 D>@<C;>9 ?;>B=>AB8 

•  '<5BL: 
3 =0E>48BL DC=:F8N ?;>B=>AB8 ?> 8=B53@0;L=>9 D>@<C;5 @0A?@545;5=8O !%�; 
3 2KG8A;OBL 25@>OB=>AB8 4;O !%� ?> 5ё DC=:F88 ?;>B=>AB8 8 8=B53@0;L=>9 
DC=:F88 @0A?@545;5=8O 
 

 �>?@>AK : B5<5 
1. �0BL >?@545;5=85 DC=:F88 @0A?@545;5=8O 25@>OB=>AB59.  
&&&&&&&...&&&&&&&&&&&&&&& 

2. �09B5 35><5B@8G5A:CN 8=B5@?@5B0F8N DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

3. #5@5G8A;8B5 A2>9AB20 DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

4. �09B5 >?@545;5=85 48DD5@5=F80;L=>9 DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

5. +B> B0:>5 :@820O @0A?@545;5=8O?  
&&&&&&&...&&&&&&&&&&&&&&& 

6. �5><5B@8G5A:89 A<KA; 25@>OB=>AB8 ?>?040=8O 7=0G5=8O A;CG09=>9 25;8G8=K 2 
7040==K9 8=B5@20;.  
&&&&&&&...&&&&&&&&&&&&&&& 

7. #5@5G8A;8B5 A2>9AB20 48DD5@5=F80;L=>9 DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

&&&&&&&...&&&&&&&&&&&&&&& 

 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 № 1 
%;CG09=0O 25;8G8=0 X 7040=0 DC=:F859 @0A?@545;5=8O: 

ÿ
ÿ
þ

ÿÿ
ý

ü

þ

óü

ó

ý

3;1

30;
3

0;0

)(

x?@и

x?@иx

x?@и

xF  

!09B8 DC=:F8N ?;>B=>AB8 25@>OB=>AB8 ƒ(x) A;CG09=>9 25;8G8=K X. 

#>AB@>8BL 3@0D8: ƒ(x)  8 F(x). 

!09B8 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X ?@8<5B 
7=0G5=8O: 
0) @02=>5 1;  1) =5 1>;55 1;  2) 2 8=B5@20;5 >B 1 4> 2. 
$5H8BL 7040GC 42C<O A?>A>10<8: 8A?>;L7CO F(E) 8 ƒ(x). 
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�7>1@078BL C:070==K5 25@>OB=>AB8 =0 3@0D8:0E F(E) 8 ƒ(x). 

 

  $5H5=85 
!0945<  DC=:F8N ?;>B=>AB8 25@>OB=>AB8 ƒ(x) A;CG09=>9 25;8G8=K X. 

(C=:F8N 25@>OB=>AB8 2KG8A;8< ?> D>@<C;5  ƒ(x) = F'(E). 
�A;8 E ≤ 0; B> F(E) = 0; B>340 ƒ(x) = F'(E) = (0)′ = 0. 

�A;8 0 < E  ≤ 3; B> F(E) =&&, B>340  ø ù ýòý ........)(xf &&&&&.. 
�A;8 E > 3, B> F(E) = &, B>340 ƒ(x) = (&..) ' = &&&&&&& 

�0?8H5< DC=:F8N ?;>B=>AB8 

ÿ
þ

ÿ
ý

ü

þ
óü

ó
ý

3......;

30......;

0;0

)(

x?@8
x?@8

x?@8
xf  

 

#>AB@>8< 3@0D8:8 F(E) 8 ƒ(x). 

@8A. 1     @8A. 2 
4) !0945< 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X 

?@8<5B 7=0G5=85 @02=>5 1. 

!0945<  (Х = &&). 

&. :. A;CG09=0O 25;8G8=0 X - =5?@5@K2=0, B> 25@>OB=>ABL >B45;L=> 27OB>3> 7=0G5=8O 
@02=0 =C;N, B.5. P(X = &..) = &&&. 

 

1) !0945< 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X 

?@8<5B 7=0G5=85 =5 1>;55 1. 

P(X ≤ &..) =0945< ?> D>@<C;5   (4 ≤ X ≤ b) = F(b) - F(4) 
ýýóóýóó (...)(...))10()1( FFXPXP &&&&&&&& 

 

$5H8< 7040GC 2-< A?>A>1><.  �>A?>;L7C5<AO D>@<C;0<8: 

$(0 ≤ X ≤ b)=   ý
b

a

Cxdxdxxf ,;)(    #>;CG8<: 

ýýóó 


dxXP

1

.....)1( &&&&&&&&&&&&&&.. 

�K2>4: >10 >B25B0 A>2?040NB. 
�7>1@078< ?>;CG5==CN 25@>OB=>ABL =0 3@0D8:0E F(E) 8 ƒ(x). 

        f(X)

0              1            2           3          X

        F(X)

1

 0              1             2           3          X

1/3
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                      $8A. 3     $8A. 4 
!0 @8A.3    (Х ≤ 1) MB> ?;>I04L ?>4 :@82>9 @0A?@545;5=8O ƒ(x)  =0 >B@57:5 [0; 1]. 

!0 @8A. 4  (E ≤ 1) MB> >@48=0B0 B>G:8 F(1) 

 

2) !0945< 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X 

?@8<5B 7=0G5=85 2 8=B5@20;5 >B 1 4> 2. 

ýýóó )1()2()21( FFXP ..................................................... 

8;8 

ýýóó  dxxfXP

2

1

)()21( ................................................... 

 

�7>1@078< ?>;CG5==CN 25@>OB=>ABL =0 3@0D8:0E F(E) 8 ƒ(x). 

 

         $8A 5.     $8A 6. 
!0 @8A. 5   (1 ≤ Х ≤ 2) MB> ?;>I04L ?>4 :@82>9 @0A?@545;O5BAO =0 >B@57:5 [1; 2];  

!0 @8A. 6   (1 ≤ Х ≤ 2) MB> ?@8@0I5=85 >@48=0BK 3@0D8:0  (E) =0 >B@57:5 [1; 2]. 

 

�040G0 № 2 
%;CG09=0O 25;8G8=0 X 7040=0 DC=:F859 ?;>B=>AB8 25@>OB=>AB8: 

ÿ
ÿ
þ

ÿÿ
ý

ü

þ

óü

ó

ý

2;0

20;
2

0;0

)(

x?@и

x?@иx

x?@и

xf  

!09B8 DC=:F8N @0A?@545;5=8O F(x) A;CG09=>9 25;8G8=K X.  

#>AB@>8BL 3@0D8: ƒ(x) 8 F(E). 
�KG8A;8BL $(1 ≤ ) ≤ 2) 

        f(X)

 0                  1              2          3          X

1/3

0                   1            2           3          X

        F(X)

1

P(x   1)

P(x   1)

        f(X)

0              1            2           3          X

        F(X)

1

 0              1             2           3          X

1/3
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�7>1@078BL =0 3@0D8:0E ƒ(x) 8 F(E) =0945==CN 25@>OB=>ABL. "B<5B8BL =0 3@0D8:5 
F(E), B> 7=0G5=85 A;CG09=>9 25;8G8=K X, ?@8 :>B>@>< >=0 8<55B =081>;LHCN 
25@>OB=>ABL. 
 $5H5=85 
(C=:F8N @0A?@545;5=8O F(x) =5?@5@K2=>9 A;CG09=>9 25;8G8=K =0945< ?> D>@<C;5 

.)()( 


ý
x

dttfxF  

"1;0ABL >?@545;5=8O 48DD5@5=F80;L=>9 DC=:F88 ƒ(x) =5?@5@K2=0, => DC=:F8O 
7040=0 @07;8G=K<8 0=0;8B8G5A:8<8 2K@065=8O<8 =0 @07=KE 8=B5@20;0E. 

�A;8  x  ≤ 0, B>340 ƒ(x) = 0 8  


ý
x

dtxF 0)( .......... 

�A;8 0 < x  ≤ 2, B> ý)(xf .........; A;54>20B5;L=>  


ýý
0

0

.........0)(

x

dtdtxF  

........................................................................................... 

 

�A;8 E > 2 , B> ƒ(x)  = ........ 8, A;54>20B5;L=>,  ýý


x

dtdt
t

dtxF
2

2

0

0

0
2

0)(

...................................................... 

&0:8< >1@07><, 8A:><0O DC=:F8O 
 

ÿ
þ

ÿ
ý

ü

þ
óü

ó
ý

2.;..........

20.;..........

0.;..........

)(

x?@8
x?@8

x?@8
xF  
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